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1.	Which	produces	a	mid-diastolic	murmur?	
a.	Tricuspid-regurgitation	
b.	Tricuspid	-stenosis	
c.	Atrial	myxoma	
d.	Aortic- regurgitation	







2.	A	30-year	lady	was	stabbed	in	the	arm	by	her	ex-husband	and	has	
received	multiple	Blood	transfusions	in	your	emergency	department.	
She	is	now	complaining	of	respiratory	distress	and	examination	
shows	HR=	120/min,	BP=	140/100	mm	Hg	with	fine	crepitations	in	
bilateral	lung	fields.	Liver	is	palpable	3	cm	below	costal	margins.	
Diagnosis	is?

a.	Transfusion	associated	circulatory	overload	
b.	Transfusion	associated	acute	lung	injury	
c.	Mismatched	blood	transfusion	
d.	Allergic	reaction	to	blood	components	





3.	Comment	on	the	diagnosis	of	the	CT	chest	shown?	
a.	Massive	pulmonary	embolism	
b.	Submassive Pulmonary	embolism	
c.	Aortic	dissection	
d.	Left	atrial	Myxoma	



Pulmonary	embolism	 Aortic	dissection	



4.	Which	of	the	following	auscultation	findings	are	
abnormal?	
a.	Loud	S1	in	pregnancy	
b.	S3	in	young	adults	
c.	S4	
d.	Splitting	of	S2	on	deep	inspiration	





5.	What	is	correct	treatment	of	Ventricular	fibrillation?
a.	Cardioversion	
b.	Defibrillation	
c.	Precordial	thump	
d.	Chest	compressions	





6.	Euvolemic	Hyponatremia	is	seen	in?	
a.	Diarrhea
b.	Heart	failure	
c.	Ascites	
d.	Syndrome	of	inappropriate	ADH	production	





7.	A	patient	of	ascites	in	undergoing	Large	volume	
paracentesis.	After	procedure	he	has	developed	asterixis	and	
then	become	very	drowsy.	What	is	reason?	

a.	Hepatorenal	syndrome	
b.	Hepatic	encephalopathy	
c.	Hemoperitoneum	due	to	faulty	procedure	
d.	Hepatopulmonary	syndrome	





8.	Which	of	the	following	is	not	correct	about	Defibrillation?
a.	Easy	for	untrained	person
b.	Decrease	in	success	rate	with	delay	in	initiation	
c.	Improves	prognosis
d.	1-minute	gap	between	2	shocks	



9.	Drug	of	choice	for	management	of	central	diabetes	
insipidus	
a.	Thiazides	
b.	Vaptans	
c.	Demeclocycline	
d.	Desmopressin	nasal	spray	



10.	Cushing	syndrome	is	seen	due	to?
a.	Bronchial	carcinoid	
b.	Simmond’s disease	
c.	Pituitary	infarction	
d.	Pituitary	adenoma



11.	Roflumilast	is	used	in	management	of?	
a.	COPD
b.	Asthma	
c.	Chronic	bronchitis	
d.	Bronchiectasis



12.	Chvostek	sign	is?
a.	Twitching	of	circumoral	muscles	on	tapping	of	facial	nerve	
b.	Obstetrician’s	hand	
c.	Inability	to	open	eye	on	tapping	of	facial	nerve	
d.	Carpo-pedal	spasm	



13.	Procedure	of	choice	for	control	of	massive	hemoptysis?
a.	Balloon	catheter	tamponade
b.	Rigid	bronchoscopy	and	Photocoagulation	
c.	Bronchial	artery	embolization	
d.	Flexible	bronchoscopy	and	cautery	



14.	Platypnea is	seen	with?
a.	Atrial	myxoma	
b.	Hepato-renal	syndrome	
c.	Renal	artery	stenosis	
d.	Kyphoscoliosis	



15.	Median	rhomboid	glossitis	is	seen	in?	
a.	Candidiasis	
b.	AIDS	
c.	Chronic	kidney	disease	
d.	Mouth	breathers	



16.	Most	common	cause	of	non-traumatic	acute	chest	pain?	
a.	Tuberculosis	
b.	GIT	causes	
c.	Ischemic	heart	disease	
d.	Costochondritis	



17.	A	45-year-old	smoker	patient	presents	with	sudden	
onset	unrelenting	chest	pain	with	loss	of	peripheral	pulses.	
Lung	fields	are	clear	and	has	normal	air	entry.	First	
differential	diagnosis	is?	
a.	Mirizzi’s syndrome	
b.	Acute	aortic	syndrome	
c.	Viral	pericarditis	
d.	Spontaneous	pneumothorax	





18.	Number	of	blood	cultures	to	be	performed	in	F.U.O?
a.	N=	1
b.	N=	2
c.	N=	3
d.	N=	4



19.	CXR	showing	massive	hilar	lymphadenopathy	is	a	feature	
of	?
a.	Idiopathic	pulmonary	fibrosis	
b.	Non-specific	interstitial	pneumonitis	
c.	Sarcoidosis	
d.	Cryptogenic	organising	pneumonia	





20.	Indication	for	therapeutic	thoracentesis	is?	
a.	Free	fluid	separates	the	lung	from	chest	wall	by	10	mm
b.	Loculated	pleural	fluid	
c.	Recurrence	of	pleural	fluid	<	72	hours	of	previous	thoracentesis	
d.	Mesothelioma	



21.	Salt	and	pepper	chromatin	and	high	nuclear	cytoplasmic	
ratio	is	a	feature	of?
a.	Oat	cell	cancer	
b.	Malignant	melanoma
c.	Neuroepithelial	tumour
d.	Mesothelioma	



22.	Treatment	of	type	4	respiratory	failure?	
a.	Elective	intubation	and	mechanical	ventilation	
b.	Non-invasive	positive	pressure	ventilation	
c.	Rebreathing	mask	with	Fi02 of	80%
d.	Hyperbaric	oxygen	therapy	







23.	Proliferative	phase	of	ARDS	lasts	for?	
a.	0-3	days
b.	3-7	days	
c.	7-21	days	
d.	21-30	days





24.	Leading	direct	cause	of	ARDS	is?
a.	Pneumonia	
b.	Sepsis	
c.	Mendelson	syndrome	
d.	TRALI



25.	Comment	on	the	diagnosis?
a.	Eventration	of	diaphragm	
b.	Hampton	hump
c.	Pneumomediastinum	
d.	Water	bottle	heart	





26.	Comment	on	the	first	differential	diagnosis	of	the	CXR	of	
a	50-year-old	patient	with	cough	for	2	weeks.	
a.	Round	pneumonia	
b.	Lung	abscess	
c.	Asbestosis	coin	lesion	
d.	Pulmonary	hamartoma	



27.	Diabetes	mellitus	leads	to	
a.	Type	A	lactic	acidosis	
b.	Type	B	lactic	acidosis
c.	Type	D	lactic	acidosis
d.	All	of	the	above	



28.	Which	of	the	following	is	used	for	management	of	
Pneumomediastinum?
a.	Breathing	of	high	concentration	of	oxygen	will	lead	to	absorption	of	
mediastinal	air
b.	Breathing	of	low	concentration	of	oxygen	will	lead	to	absorption	of	
mediastinal	air	
c.	ICD	tube	in	2nd ICS	
d.	ICD	tube	in	5th ICS	



29.	Which	of	the	following	has	no	role	in	management	of	
acute	onset	hyperkalemia?
a.	Intravenous	bicarbonate	
b.	Nebulization	with	albuterol
c.	Calcium	chloride	
d.	Intravenous	regular	insulin	





30.	Pregnancy	leads	to	development	of?
a.	Respiratory	alkalosis	
b.	Respiratory	acidosis	
c.	Metabolic	acidosis	
d.	Metabolic	alkalosis	



31.	A	female	reports	symmetrical	small	joint	polyarthritis	for	2	weeks.		
Labs	show	rheumatoid	factor	levels	at	1:320	(positive	is	1:40)	and	
anti-CCP	at	58	units	(40	to	59	units	are	considered	strongly	positive).		
What	is	the	appropriate	next	step	in	the	management	of	this	patient?	

a.	Naproxen	500	mg	twice	a	day	and	follow	up	in	1	month	
b.	Methotrexate	12.5	mg	a	week	with	liver	function	tests	in	1	month
c.	Anti-histone	antibodies,	anti-DS-DNA,	and	complement	levels	
d.	Prednisone	60	mg	a	day	and	follow	up	in	2	weeks	



32.	Treatment	of	choice	for	late	cardiovascular	syphilis	is?
a.	Benzathine	penicillin	2.4	million	units	in	single	dose	i.m
b.	Benzathine	penicillin	7.2	million	units	in	three	divided	doses	i.m
c.	Benzyl	penicillin	12-24	million	units	for	21	days	i.m
d.	Tetracycline	2g	daily





33.	Mrs	Sharma	collapsed	at	the	cremation	of	her	husband.	
When	brought	to	the	hospital,	she	was	declared	dead.	What	
is	the	possible	diagnosis?

a.	Broken	heart	syndrome	
b.	Massive	pulmonary	embolism	
c.	Heart	block	
d.	Aortic	dissection	



34.	80-year-old	person	Holter	is	found	to	be	having	atrial	
fibrillation.	What	calculation	should	be	used	to	evaluate	for	
need	for	anticoagulation	in	this	patient?	

a.	NIHS	score	
b.	ABCD2	score	
c.	CHADS2- VaSc score	
d.	Cockroft Gault	formula	





35.	Which	of	the	following	can	be	used	to	calculate	heart	
rate	from	an	ECG?	
a.	(Number	of	large	squares	in	one	R-R	interval)/300
b.	300/	(Number	of	large	squares	in	one	Q-T	interval)
c.	300/	(Number	of	large	squares	in	one	R-R	interval)
d.	(Number	of	large	squares	in	one	Q-T	interval)	/	300





36.	A	58-year-old	man	presents	to	you	complaining	of	chest	pain.		The	
pain	occurs	when	he	walks	to	the	corner	shop	on	his	lunch	break	and	
disappears	within	a	couple	of	minutes	when	he	stops	to	rest.		Clinical	
examination	is	normal	except	for	mildly	elevated	blood	pressure	at	
145/85.		An	ECG	shows	normal	sinus	rhythm.	What	is	the	most	
appropriate	investigation?

A.	Fasting	blood	lipids	
b.	Urgent	invasive	coronary	angiography	
c.	Repeat	ECG	in	1	week	
d.	Sestamibi Scan	





37.	A	mother	brings	her	5-year-old	boy	to	see	you	as	a	GP.		
On	examination,	he	has	red	eyes,	dry,	cracked	lips	and	a	rash	
on	his	hands	and	feet.		He	also	has	cervical	
lymphadenopathy.	What	is	the	most	important	investigation	
to	rule	out	a	serious	complication	of	this	condition?	

a.	Blood	pressure	
b.	ECG	
c.	Echocardiogram	
d.	Blood	tests	for	autoantibodies	



38.	A	20-year-old	hypertension	patient	has	been	diagnosed	
as	a	case	of	pheochromocytoma	with	positive	biochemical	
evidence.	What	is	the	next	step	in	work	up	of	this	patient?

a.	CT	Abdomen	
b.	Perform	urinary	VMA	levels	
c.	Perform	adrenal	vein	sampling	
d.	MIBG	scintigraphy	



39.	Blunted	y	descent	is	seen	with?
a.	Tetralogy	of	Fallot	
b.	Tricuspid	stenosis	
c.	Tricuspid	regurgitation	
d.	Tricuspid	atresia	





40.	Best	for	myocardial	viability	and	inflammation	imaging?	
a.	PET	
b.	SPECT	thallium	201
c.	SPECT	sestamibi Tc99
d.	Coronary	angiography	



41.	Best	drug	for	Wolf	Parkinson	white	syndrome	
a.	Adenosine	
b.	Amiodarone	
c.	Lignocaine	
d.	Procainamide	



42.	Rescue	P.C.I	is	done	for	which	of	the	following?
a.	Persistent	chest	pain	with	ST	elevation	>	30	min	after	thrombolysis
b.	Persistent	chest	pain	with	ST	elevation	>	60	min	after	thrombolysis
c.	Persistent	Chest	pain	with	ST	elevation	>90	min	after	thrombolysis	
d.	Persistent	Chest	pain	with	ST	elevation	for	>120minutes	after	thrombolysis	



43.	Septic	Shock	is	defined	as?
a.	Shock	persisting	>	1	hour	after	crystalloid	administration	
b.	Shock	persisting	>	1	hour	after	high	dose	vasopressors
c.	Shock	persisting	>	1	hour	after	colloid	administration	
d.	Shock	persisting	>	1	hour	after	massive	blood	transfusion	



44.	Waist	to	hip	ratio	that	increases	risk	of	heart	disease	is?	
a.	>	0.80	in	male
b.	>	0.80	in	female
c.	>	0.85	in	male	
d.	>	0.85	in	female		



45.	Pheochromocytoma	produces	all	except?	
a.	Nor-epinephrine	
b.	Secretin
c.	Vaso-active	intestinal	polypeptide	
d.	Calcitonin	



46.	The	following	patient	has	presented	after	chest	trauma.	
On	examination	crepitus	is	felt.	The	clinical	diagnosis	is?
a.	Subcutaneous	Emphysema	
b.	Gas	gangrene
c.	Acute	tubular	necrosis
d.	Hyperbaric	Decompression	sickness	



47.	Which	of	the	following	is	correct	about	MEN	2	A	
Syndrome?
a.	Parathyroid	adenoma
b.	Pituitary	adenoma
c.	Pancreas	adenoma
d.	Cavernous	angioma	



48.	Fulminant	diabetes	mellitus	is	seen	in?
a.	Diabetic	ketoacidosis
b.	Coxsackie	B	virus	
c.	Non	Ketotic hyperosmolar	coma	
d.	Autoimmune	pancreatitis



49.	Modified	Duke’s	criteria	are	used	for	diagnosis	of?
a.	Infective	endarteritis	
b.	Infectious	mononucleosis	
c.	Inflammatory	myopathy	
d.	Infective	endocarditis	



50.	Which	of	the	following	shall	be	seen	with	use	of	a	small	
size	BP	cuff?	
a.	a.	False	elevation	of	BP
b.	Falsely	low	value	of	BP	
c.	Cancels	the	effect	of	calcified	arteries	
d.	Increases	trans-arm	impedance	



51.	Elderly	male	patient	has	presented	with	recurrent	falls.	
Which	of	the	following	medicines	is	responsible?
a.	Prazocin
b.	Metformin
c.	Acarbose	
d.	Thiazides	



52.	Which	of	the	following	test	is	used	for	diagnosis	of	DIC?
a.	Fibrin	Degradation	Products		
b.	Activated	partial	thromboplastin	time
c.	Prothrombin	time
d.	D- Dimer	assay	



53.	On	putting	an	Internal	jugular	vein	catheter,	a	patient	has	
developed	sudden	onset	severe	respiratory	distress.	Clinical	
diagnosis	is?

a.	Pneumothorax
b.	Sepsis
c.	ARDS
d.	Mendelson	Syndrome	



54.	40-year-old	alcoholic	has	presented	with	severe	
epigastric	pain	radiating	to	back.	CT	abdomen	was	done.	
Diagnosis?	
a.	Peptic	ulcer	disease	
b.	Mallory	Weiss	syndrome	
c.	Boerrhave syndrome	
d.	Acute	Pancreatitis	



55.	All	of	the	following	cause	acute	renal	failure	except:
a.	Pyelonephritis
b.	Snakebite
c.	Rhabdomyolysis
d.	Analgesic	nephropathy



56.	Patient	on	insulin	in	CKD	stage	4.	What	is	dose	adjustment	
of	insulin	required?
a.	Increased	insulin	
b.	Decreased	insulin	
c.	Normal	insulin	
d.	Add	DPP	– 4	inhibitors



57.	Tropical	splenomegaly	is	seen	in
a.	Malaria
b.	Kala	azar
c.	Brucella	
d.	Q-fever	



58.	Chikungunya	presents	as?
a.	Fever,	myalagia and	petechial	rash	
b.	Fever,	myalgia	with	lymphadenopathy	
c.	Fever,	myalgia	and	joint	pains	
d.	Fever,	meningismus and	haemorrhagic	complications	



59.	Which	of	the	following	leads	to	palpitations,	heat	
intolerance	and	pre-tibial	myxedema?
a.	Hypothyroidism	primary
b.	Hypothyroidism	secondary
c.	Primary	thyrotoxicosis
d.	Secondary	thyrotoxicosis	



60.	Galactorrhea occurs	in?
a.	Hypothyroidism	primary
b.	Hypothyroidism	secondary
c.	Primary	thyrotoxicosis
d.	Secondary	thyrotoxicosis	



61.	Best	treatment	of	M.O.D.Y	is?	
a.	Recombinant	insulin
b.	Metformin
c.	Glipizide
d.	Sitagliptin



62.	MEN	I	leads	to	all	except
a.	Hypergastrinemia
b.	Hypercalcemia	
c.	Hyperprolactinemia
d.	Excess	catecholamines	



63.	MEN	II	occurs	due	to	defect	of?
a.	K-Ras
b.	P16
c.	Ret	proto-oncogene	
d.	Rb



64.	Broken	heart	syndrome	is?
a.	Arrythmogenic RV	dysplasia
b.	Tako-tsubo- cardiomyopathy
c.	Restrictive	Cardiomyopathy
d.	Misnomer	



65.	Pacemaker	is	required	for?	
a.	HOCM
b.	Brugada syndrome
c.	Long	QT	syndrome
d.	Stokes	adam syndrome



66.	Anti- Ro	antibody	leads	to?
a.	Photosensitivity
b.	Drug	induced	lupus
c.	Lupus	cerebritis
d.	Lupus	nephritis



67.	ST	segment	depression	is	seen	in?
a.	Hyperkalemia
b.	Hypokalemia
c.	Hypercalcemia	
d.	Hypocalcemia



68.	Non	pulsatile	elevated	JVP	is	a	feature	of?
a.	Cardiac	tamponade
b.	Pericardial	effusion	
c.	Acute	pericarditis
d.	Constrictive	pericarditis



69.	Lente	insulin	is?
a.	Rapid	acting	insulin	
b.	Short	acting	insulin
c.	Intermediate	insulin
d.	Long	acting	insulin



70.	Carcinoid	Syndrome	leads	to?
a.	Hypertension
b.	Diaphoresis	
c.	Hyperglycemia
d.	Pellagra



71.	Best	test	for	diagnosis	of	acromegaly?
a.	Glucose	challenge	test
b.	Insulin	like	growth	factor	1	levels
c.	Insulin	like	growth	factor	2	levels
d.	GHRH	levels	



72.	Best	for	management	of	Prolactinoma?
a.	Trans-sphenoid	surgery
b.	Bromocriptine	
c.	Octreotide	
d.	Cyproheptadine	



73.	Not	a	symptom	of	hypothyroidism?
a.	Psychosis
b.	Hair	loss
c.	Serous	cavity	effusion
d.	Pre-tibial	myxedema



74.	MMSE	score	is	used	to	diagnose?	
a.	Stroke	
b.	Esophageal varices	
c.	Depression	
d.	Dementia	



75.	Weight	gain	is	a	feature	of	all	except?
a.	PCOD	
b.	Cushing	syndrome	
c.	Hypothyroidism	
d.	Pheochromocytoma	




